

[2A] (1)  $2 \times 3$  (2) 3 (3)  $\begin{pmatrix} 1 & 3 \\ 2 & -2 \\ -1 & 0 \end{pmatrix}$

[2B] (1)  $(x+y)$  (2)  $\begin{pmatrix} x+y \\ x+2y \end{pmatrix}$  (3)  $\begin{pmatrix} x+y \\ x+2y \\ 2x+3y \end{pmatrix}$  (4)  $\begin{pmatrix} x+y+2z \\ x+2y+3z \end{pmatrix}$

[2C] (1)  $\begin{pmatrix} x \\ y \\ z \end{pmatrix}$  (2)  $\begin{pmatrix} -x \\ -y \\ -z \end{pmatrix}$  (3)  $\begin{pmatrix} y \\ x \\ z \end{pmatrix}$

[2D] (1) 係數行列  $\begin{pmatrix} 1 & 1 \\ 1 & -1 \end{pmatrix}$  放大係數行列  $\begin{pmatrix} 1 & 1 & 2 \\ 1 & -1 & 0 \end{pmatrix}$

連立方程式  $\begin{pmatrix} 1 & 1 \\ 1 & -1 \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 2 \\ 0 \end{pmatrix}$

(2) 係數行列  $\begin{pmatrix} 1 & 1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$  放大係數行列  $\begin{pmatrix} 1 & 1 & 1 & 1 \\ 1 & -1 & 1 & 3 \end{pmatrix}$  連立方程式  $\begin{pmatrix} 1 & 1 & 1 \\ 1 & -1 & 1 \end{pmatrix} \begin{pmatrix} x \\ y \\ z \end{pmatrix} = \begin{pmatrix} 1 \\ 3 \end{pmatrix}$

(3) 係數行列  $\begin{pmatrix} 1 & 1 \\ 1 & -1 \\ 2 & 1 \end{pmatrix}$  放大係數行列  $\begin{pmatrix} 1 & 1 & 2 \\ 1 & -1 & 0 \\ 2 & 1 & 3 \end{pmatrix}$  連立方程式  $\begin{pmatrix} 1 & 1 \\ 1 & -1 \\ 2 & 1 \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 2 \\ 0 \\ 3 \end{pmatrix}$

(4) 係數行列  $\begin{pmatrix} 1 & 0 & 1 \\ 1 & 1 & 0 \\ 0 & 1 & 1 \end{pmatrix}$  放大係數行列  $\begin{pmatrix} 1 & 0 & 1 & 1 \\ 1 & 1 & 0 & 1 \\ 0 & 1 & 1 & 1 \end{pmatrix}$  連立方程式  $\begin{pmatrix} 1 & 0 & 1 \\ 1 & 1 & 0 \\ 0 & 1 & 1 \end{pmatrix} \begin{pmatrix} x \\ y \\ z \end{pmatrix} = \begin{pmatrix} 1 \\ 1 \\ 1 \end{pmatrix}$

[2E] (1)  $\begin{pmatrix} 0 \\ 0 \\ 0 \end{pmatrix}$  (2)  $\begin{pmatrix} 2 \\ 3 \\ 5 \end{pmatrix}$  (3)  $\begin{pmatrix} 3 \\ 4 \\ 7 \end{pmatrix}$  (4)  $\begin{pmatrix} 2 & 3 \\ 3 & 4 \\ 5 & 7 \end{pmatrix}$

(5)  $(2 \ 3)$  (6)  $\begin{pmatrix} 2 & 3 \\ 3 & 4 \end{pmatrix}$  (7)  $\begin{pmatrix} 2 & 3 \\ 3 & 4 \\ 5 & 7 \end{pmatrix}$  (8)  $\begin{pmatrix} 2 & 3 & 5 \\ 3 & 4 & 7 \end{pmatrix}$

$\boxed{12F}$  (1)  $A^2 = \begin{pmatrix} 0 & -1 \\ 1 & 0 \end{pmatrix} \begin{pmatrix} 0 & -1 \\ 1 & 0 \end{pmatrix} = \begin{pmatrix} -1 & 0 \\ 0 & -1 \end{pmatrix} = -E_2$  if  $A^3 = -A, A^4 = E_2$  2nd order

for  $\mathbb{Z}$   $A^n = \begin{cases} E_2 = \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix} & \text{if } n \equiv 0 \pmod{4} \\ A = \begin{pmatrix} 0 & -1 \\ 1 & 0 \end{pmatrix} & \text{if } n \equiv 1 \pmod{4} \\ -E_2 = \begin{pmatrix} -1 & 0 \\ 0 & -1 \end{pmatrix} & \text{if } n \equiv 2 \pmod{4} \\ -A = \begin{pmatrix} 0 & 1 \\ -1 & 0 \end{pmatrix} & \text{if } n \equiv 3 \pmod{4} \end{cases}$

(2)  $A^2 = \begin{pmatrix} 0 & 1 & 0 \\ 0 & 0 & 1 \\ 1 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 1 & 0 \\ 0 & 0 & 1 \\ 1 & 0 & 0 \end{pmatrix} = \begin{pmatrix} 0 & 0 & 1 \\ 1 & 0 & 0 \\ 0 & 1 & 0 \end{pmatrix}, A^3 = A^2 \cdot A = \begin{pmatrix} 0 & 0 & 1 \\ 1 & 0 & 0 \\ 0 & 1 & 0 \end{pmatrix} \begin{pmatrix} 0 & 1 & 0 \\ 0 & 0 & 1 \\ 1 & 0 & 0 \end{pmatrix} = \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix} = E_3$

for  $\mathbb{Z}$   $A^n = \begin{cases} E_3 = \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix} & \text{if } n \equiv 0 \pmod{3} \\ A = \begin{pmatrix} 0 & 1 & 0 \\ 0 & 0 & 1 \\ 1 & 0 & 0 \end{pmatrix} & \text{if } n \equiv 1 \pmod{3} \\ A^2 = \begin{pmatrix} 0 & 0 & 1 \\ 1 & 0 & 0 \\ 0 & 1 & 0 \end{pmatrix} & \text{if } n \equiv 2 \pmod{3} \end{cases}$

(3)  $A^2 = \begin{pmatrix} 2 & -1 & -1 \\ -1 & 2 & -1 \\ -1 & -1 & 2 \end{pmatrix} \begin{pmatrix} 2 & -1 & -1 \\ -1 & 2 & -1 \\ -1 & -1 & 2 \end{pmatrix} = \begin{pmatrix} 6 & -3 & -3 \\ -3 & 6 & -3 \\ -3 & -3 & 6 \end{pmatrix} = 3 \begin{pmatrix} 2 & -1 & -1 \\ -1 & 2 & -1 \\ -1 & -1 & 2 \end{pmatrix} = 3A$

for  $\mathbb{Z}$   $A^n = 3^{n-1} A = 3^{n-1} \begin{pmatrix} 2 & -1 & -1 \\ -1 & 2 & -1 \\ -1 & -1 & 2 \end{pmatrix} = \begin{pmatrix} 2 \cdot 3^{n-1} & -3^{n-1} & -3^{n-1} \\ -3^{n-1} & 2 \cdot 3^{n-1} & -3^{n-1} \\ -3^{n-1} & -3^{n-1} & 2 \cdot 3^{n-1} \end{pmatrix}$  if  $n \geq 1$   
 $\textcircled{\neq} A^0 = E_3$

$$(4) \quad A^2 = \begin{pmatrix} 1 & 1 & 1 & 1 \\ 1 & -1 & -1 & -1 \\ -1 & 1 & 1 & -1 \\ -1 & -1 & -1 & 1 \end{pmatrix} \begin{pmatrix} 1 & 1 & 1 & 1 \\ 1 & -1 & -1 & -1 \\ -1 & 1 & 1 & -1 \\ -1 & -1 & -1 & 1 \end{pmatrix} = \begin{pmatrix} 4 & 0 & 0 & 0 \\ 0 & 4 & 0 & 0 \\ 0 & 0 & 4 & 0 \\ 0 & 0 & 0 & 4 \end{pmatrix} = 4E_4 \quad (\text{2})$$

$$A^m = \begin{cases} 4^{\frac{m}{2}} E_4 = 2^m E_4 & \text{if } m \equiv 0 \pmod{2} \\ 4^{\frac{m-1}{2}} A = 2^{m-1} A & \text{if } m \equiv 1 \pmod{2} \end{cases}$$

12G  $A$  を  $n \times n$  の正定行列とす。

$A$  の第  $j$  列を  $a_j$  とす。  $A = (a_1, \dots, a_n)$  と表す。  $\left( \begin{array}{l} a_j \text{ は } n\text{-次元} \\ \text{列ベクトル} \end{array} \right)$

$$A^2 = A(a_1, \dots, a_n) = (Aa_1, \dots, Aa_n)$$

$$\lambda A = (\lambda a_1, \dots, \lambda a_n) \quad (\text{2}) \quad \forall j=1, \dots, n, \quad Aa_j = \lambda a_j \quad \text{2} \text{ である}$$

今、 $A \neq O$  2)  $\exists i=1, \dots, n, a_i \neq 0$  2) である。  $\lambda$  は  $a_i$  2) である。